(a) &0

w 80 80 100 e 120 130 140 150
AGCACTG AAAGATAAGAAAGAACTAGAAGGT|TC T GGG AAGGTGAGTCAAAC TAAATATGATTOATTAATTAAGTAGAGTAAAGTATTCTAAT
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(b} 60 n 80 90 100 10 120 130 140 150
AGCACT G AAAGATAAGAAAGAACTAGAAGGT|GE TGGGAAGGTGAGT CAAAC TAAATATGAT TOAT TAATTAAGTAGAGTAAAGTAT TCTAAT

c}) &0 n ] ] 100 110 120 130 140 150
AGCACTO AAAG ATAAGAAAGAACTAG AAGGT O TO GG AAGGTGAG TCAAAC TAAATATGAT TOAT TAATTAAGTAGAGTAAAGTATTCTAAT
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(d) & m ] - 100 10 120 130 140 150
AGCACTG AAAGATAAGAAAGAACTAGAAGGIWE TGGG AAGGTOAGTCAAACTAAATATGATTOAT TAATTAAGTAGAGTAAAGTATTCTAAT
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100 1o 120 130 140 150
-\GC-\CTO ;\A{QATA-\O%K-\OA«\CT%O i-\GOTEbTOQO AAGGTOAGTCAAACTAAATATGATTOATTAATTAAGTAGAGTAAAGTATTCTAAT




